PELLET MILL TYPE EVOLUTION 8250
DPRE3 12 10058




PELLET MILL TYPE EVOLUTION 8250
DPR83 12 1005

Vis CHc M6-35 8-8

48 satubs14 BuHt CHc M6-35 8-8
Vis FHc M10-45 inox
i 20000552 BunTt FHc M10-45
47 Vis Hc M12-12
BuHt Hec M12-12 ~ .
Rondelle grower W14 -
4 50000531 MpyxuHHag waib6a W14
< Vis HM14-50 8-8
48 8000128 BuHt HM14-50 . 8-8
Vis CHc M14-50 8-8
a0 s0na0zs? BuHnt CHc M14-50 8-8
Joint a levre @280x310x16 nitrile
5 0001837 Mpoknagka F280x310x16
59 Tole de bouchage (APR96 101106)
NUCTOBOro Metanna yKyrnopku (APR96 101106)
. 53 50002089 Circlips extérieur QZ60X5 »
e BHemHee cTonopHoe KonbLeo ¥260x5

SP = Spare Parts (3anacHble 4acTty),

PROMILL STOLZ SAS
RN 12 - 28410 SERVILLE - ®PAHLINA
Ten. (33) 02.37.38.91.93 - dakc (33) 02.37.43.21.84
3an. noyta: promill@promill-stolz.fr
25




